
Proprietà della sottrazione

Risolvi le seguenti sottrazioni applicando la proprietà invariantiva.
Esempio:
140− 87 = (140− 80)− (87− 80) = 60− 7 = 53
156− 44 = (156 + 4)− (44 + 4) = 160− 48 = 112

1. 404− 132 = [272]

2. 391− 121 = [270]

3. 523− 273 = [250]

4. 690− 298 = [392]

5. 321− 112 = [209]

6. 111− 35 = [76]

7. 1300− 370 = [930]

8. 710− 239 = [471]

9. 187− 175 = [12]

10. 2400− 824 = [1576]

11. 827− 589 = [238]

12. 530− 35 = [495]

13. 1211− 12 = [1199]

14. 1233− 329 = [904]

15. 1821− 79 = [1742]

16. 1999− 109 = [1890]

17. 3427− 2245 = [1182]

18. 42008− 3754 = [38254]

19. 50616− 48213 = [2403]

20. 74381− 68125 = [6256]
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